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Negative Contractions

Rewrite each sentence using the appropriate negative contraction from the word box.
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Sophie does want to go shopping.1)

It was easy to climb that mountain.2)

They are playing outside today.3)

The bus will leave until 8:00 p.m.4)

 I do understand this question.5)

Michael has !nished his project.6)

The painters have painted the fence.7)

Example: Mia is wearing her new shoes.

Mia isn’t wearing her new shoes.

are not = aren’t do not = don’t has not = hasn’twas not = wasn’t

will not = won’t does not = doesn’t have not = haven’t

James has read this book before.8)
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